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Strand Short-Stories

Sub Strand Pacific Island Short Stories
Content Read and comprehend given passage
Learning

Outcome

Pacific Folk Tales- (Children are expected to refer to Pacific Folk Tales and read the story
first before attempting these notes and activity )

How Maui Slowed Down The Sun

Setting: Hawalii
Characters: Maui, Hina, Akalana, Grandmother, Sun

Summary:

Maui raised the sky to where it is now which made the sun run across it causing days to be
very short and nights to be very long. Hina complained about this to Maui.

Maui climbed Mt Haleakala and planned to cut off the sun’s sixteen legs with the help of his
grandmother who gave him a rope and magic bone.

Maui caught all the sixteen legs and tied it to wiliwili tree. He then struck the sun with the
magic bone. The sun begged Maui not to kill him and in return it promised to travel slowly
one part of the year and faster other part of the year.

This is why we have longer and shorter days in some countries and summer and winter in
others.

Activity:
1. Choose a character you like and state why?
Maui, he was brave and fearless
2. Choose a character you dis-like and state why?
The sun, it used to run across very fast making days short and nights long.
3. State an exciting event in the story.
When Maui tied the suns leg with the rope to the Wiliwili tree and struck it with the magic bone.
4. Write the theme of the story:

> Be considerate of others- the sun was not considerate as people couldn’t do their work as
it got dark quickly.






1076 NADI SANGAM SCHOOL
WEEKLY HOME STUDY PACKAGE #3 - SOLUTION

Subject: Mathematics Year/Level : 7

1. Convert the following weights to kilogram and grams? [Hint: 1000g = 1kg]

a) 1 001g= 1.001kg b) 6 015g = 6.015Kg ¢) 21 200g = 21.2kg
d) 30g =0.03kg e) 83 021g= 83.021kg f) 40 000g = 40kg
g) 83 176g = 83.176kg h) 7659 = 0.765kg

2. Find the total of the quantities below, giving your answers in the units given in brackets.

a) 3.4kg + 6519 ()= 34009 + 6519 = 40519

b) 31g + 2 3189 (kg) = 31 + 2318 = 2349 g = 2.349kg or 0.031kg +2.318kg = 2.349kg
c) 1.9kg + 5.50kg (g) =» 1.9+ 5.5 =7.4kg=7400g or 1900g + 55009 = 74009

d) 60kg + 6 39109 (kg) == 60kg + 6.391kg = 66.391kg

e) 9.8kg + 12.765kg + 4509 (kg)=+ 9.8 + 12.765 + 0.45kg = 23.015kg

f) 47029 + 1.904kg (g) == 4702 + 1904g = 66069
3. Mr. Josefa weighs 86kg and his eldest daughter weighs 43.75kg. What is the difference in

their weight? 86kg — 43.75kq = 42.25kqg

4. Jope picked 720 kg of tomatoes from his farm. He sold two thirds of it to the market and
packed the remainder in 24 boxes to be sold in the supermarket. Find out the weight of
each box. [%x 720kg = 480kg sold]  [720 — 480 = 240kg left] [240 = 24 = 10kg]

5. A truck was loaded with 392 kg 100g of pumpkins and 207kg432g of watermelons.
Find the total weight carried by the truck? 599kg 532¢

6. Find the difference between these two weights 45kg 750g and 43kg 950g.

45.75kg - 43.95kg = 1.8kg
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Strand History

Sub Strand Colonization in the Pacific

Content Learning Outcome | Describe Fiji and its characteristics

Vit btond.

1. 1500 BC Fiji was settled by (Melanesian) seafarers. Around 900-600 BC Moturiki Island
was settled. By 500 BC, Melanesian seafarers had reached Fiji and intermarried with
the Polynesians, giving rise to the modern iTaukei people.

2. In 1643 AD, Abel Tasman sighted Vanua Levu Island and northern Taveuni.

3. According to native oral legends the iTaukei were also descendants of a nomadic tribe
from Tanganyika (Tanzania).

Activity:
1. Name the descendants of Fiji?
Melenisians
2. Who was the first person to sight Vanua Levu?
Abel Tasman
3. Where do the natives of Fiji come from?

Tanganyika/ Tanzania



4. Name the four divisions of Fiji
Nothern/ Western/ Central/ Eastern
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